Density

Density

Density

0.8

0.6

0.4

0.2

0.0

0.2 0.4 0.6 0.8 1.0

0.0

01 02 03 04 05

0.0

for SD= 1 overall fit, standartized back to a SD=1

-2 -1 0 1
N =1000 Bandwidth =0.1161
for SD= 0.2 overall fit, standartized back to a SD=1
— | | | | |
-10 -9 -8 -7 -6

N =1000 Bandwidth = 0.09246

for SD= 0.05 overall fit, standartized back to a SD=1

N = 1000 Bandwidth =0.1655

Density

Density

Density

0.2 0.4 0.6 0.8

0.0

0.2 0.4 0.6 0.8

0.0

0.8 1.0

0.6

0.2 0.4

0.0

for SD= 0.5 overall fit, standartized back to a SD=1

A

-4 -3 -2 -1 0

N = 1000 Bandwidth =0.1094

for SD= 0.1 overall fit, standartized back to a SD=1

AN

-20.5 -20.0 -19.5 -19.0 -18.5 -18.0 -17.5

N = 1000 Bandwidth =0.1036

for SD= 0.01 overall fit, standartized back to a SD=1

-

—206 -204 -202 -200 -198

N = 1000 Bandwidth =0.1018




